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QUESTION 1

What are two base host connectivity selections that are provided by the E2800 controller? (Choose two.) 

A. FC 

B. SAS 

C. IB 

D. iSCSI 

Correct Answer: AD 

Reference: https://www.netapp.com/us/media/tr-4725.pdf 

 

QUESTION 2

In which two locations would you find the WWPNs for a Windows host? (Choose two.) 

A. FC switch 

B. host\\'s BIOS 

C. Windows Device Manager 

D. HBA vendor\\'s utility 

Correct Answer: AD 

Reference: https://library.netapp.com/ecm/ecm_download_file/ECMP1532524 (7) 

 

QUESTION 3

A company wants the most scalable host-side connection topology for E-Series systems. In this scenario, which FC
topology would satisfy the requirement? 

A. direct connect 

B. fabric attach 

C. private loop 

D. arbitrated loop 

Correct Answer: B 

 

QUESTION 4
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An administrator is asked to create an asynchronous mirroring environment that supports multiple mirroring
relationships, each with different recovery point objectives (RPOs). 

In this scenario, how does the administrator create this environment? 

A. The administrator creates a mirror group with the appropriate RPOs 

B. The administrator creates multiple mirror pairs, each with their own schedule and RPO 

C. The administrator creates a single consistency group with multiple RPOs 

D. The administrator creates multiple mirror consistency groups with the appropriate RPOs 

Correct Answer: A 

Reference: https://www.netapp.com/us/media/tr-4656.pdf 

 

QUESTION 5

Click the Exhibit button. 

Referring to the exhibit, which SAS connector is supported on the NetApp E2800 E-Series family? 

A. 1 

B. 4 

C. 2 

D. 3 

Correct Answer: D 

Reference: https://slideplayer.com/slide/11944194/ 
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